EBELEREFFRERAF—KR/ VT 1 v 7TEB

JAXAY Y —HEDE BF
gz K4 BB TR S22 REBR
@10kmF  [@15kmC |®SP At
1|B3 #=—B8 ] +HITER 100 100
2|5 R ¥ LAV 1 80 80
3| AR A EF BEEER 60 60
41/t B tEE |ERBEK 50 50
5|thH HFE— REH BR L 45 45
6|&1L FKH TEBR =R 40 40
T1RR X B + HETER 36 36
8| EH HEA tEE  |EEESRK 32 32
9[ithEE A1 ¥ BRIl =R 29 29
10| LA BedH FKH EILE SR 26 26
11 0
12 0
13 0
14 0
15 0
16 0
17 0
18 0
19 0
20 0
21 0
22 0
23 0
24 0
25 0
26 0
27 0
28 0
29 0
30 0

1HE  BF10km7 Y —
Tz | K4 HERFE PR Hwera
1|B8 #=—Bp B3] +BETER 100
1% R % K& P EEER 80
3| AR A EF BEEEmR 60
4|/t B taE [ERBEK 50
5|ithH E— RE BRlER 45
62l Bt TKH TEEER 40
T|1RR X By +BETE R 36
8| &I #EA tEE [EEESK 32
9}t M RE RSN 29
10| WL BEdH FKH MHEIESK 26
2BE  BF15kmsivhn
Tz | K4 HERFR PR HBera
1 100
2 80
3 60
4 50
5 45
6 40
7 36
8 32
9 29
10 26
3HE BF15kmR 7Y b
Tz | K4 HERFR PR HBera
1 100
2 80
3 60
4 50
5 45
6 40
7 36
8 32
9 29
10 26




